BAAAVMWNP CEKY/IUH

KA TIEQATOWKOJ TPAMATNLUWM Y HACTABW EHINECKOI
JE3VKA

Y HacTaBW CTpaHor je3vka Hajuyewhe cy ce KOPUCTUIN OCHOBHU
peyYeHNYH 06pacuy N HKXOBE KOHBEP3WKE, paHU MOZen TpaHchop-
MauuoHe rpamaTuke 0O6MYHO MOAU(MKOBaH, TarMemcka rpamartuka,
a y HOBMje Bpujeme Ce CBe BULLUE NpefiaXe rpamMarmka CEKTOPCKe
aHanm3e PobGepta /1. AneHa. MehyTum, 4MHM ce Aa Cy OBW OMUCK
orpaHM4YeHW M fJa He MOry f[a 3a[loBO/be HeKe OWTHe 3axTjeBe Ha-
CTaBe CTpaHuX jesnka.

1. Mpenopyuyjy ce UcTn obpacun uam npasuia U 3a HacTaBy
CTpaHOr M MaTepHer jesnka, a No3HaTo je Aa OKO/IHOCTU U MHOru
APpYTY hakTopy HWUCY WUCTU MPUINKOM HUXOBOI caBnajasaka. Kopg
onuca Mateper jesmka onucyje ce jesmk Koju ce Beh 3Ha, OOK Y
caBflaflaBakby CTpaHOr je3vka OHW 6u Tpebasio fga onakwiajy caena-
[JaBare je3rka KOoju ce yuu.

2. MpaBnna Koja ce NpuUmjeryjy, NOroToBy TpaHCHOpPMaLNOHa,
CyBMLIe Cy maTemaTusuMpaHa, W yMjeCcTO fa OfakLlaeajy, 4ak oTe-
)KaBajy caBfaflaBatbe CTpPaHOor jesnka. HbUXOBOM NPUMjEHOM TeXu
ce LWTO MpeuM3HMjeM OrnucuBawy jesnka, 360r yera je ycnujeguna
KOMIM/IMKOBAHOCT M 3aHemapeHa je jacHOCT. MHore onepauuje y
HbUMa Cy WUpeneBaHTHe Yy HacTaBuM CTpaHOr je3nka, a 4ecto ce Mo-
CTaB/bajy Behu 3axTjeBM HEro LITO je C/yyaj Y MaTepeM je3uKy.

3. 3aHemapeHO je M KOHCTpyucarwe cucTema JIMYHUX [1aron-
CKMX 00/MKa, ogpehumBarwe no3nuunja U MAeHTUPUKOBake 006/MKa
y CTPYKTYpW; BULLUE Ce BOAWIO payyHa O Pedy pujeun y peyeHuum
N pegoc/befy HEro pasfarakby rnarofickor o6svka y OKBUpY Lje-
JIOKYTHE peyeHnyHe CTPYKType. A MO3HATo je Ja je rnaros oca
peyeHuue, MOroToBY Y aHVMTUYKUM je3numMmMa Kao LWTO je eH-
rNeckn. Y CTBapW, YMHW Ce fAa je HajBaXHWje KOHCTpymcatu 06-
pacle v npasusia OKO JINYHOI T/1arosickor o6/smka.
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4. OCHOBHM peYeHUYHN obpacuM U HauyuvH HUXOBOI MPE3eHTU-
patba HUCY [OBO/bHM Aa 06jacHe CTPYKTYpY M OHO LITO je OGUTHO
y CTPYKTYypW, Tj. Aa ogpase npuvpoaHM TOK roepa, Beh je notpebHa
M OONyHCKa WHgopMauuja, HapaBHO BULIE Kada ce paan 0 cTapu-
jUM y3pacTMma cnywanaua uamM ako ce pagum O ancTpakTHUM Moj-
MOBMMa, LUTO OMNeT aKTyenu3upa peluaBarwe npobriema ynotpede
MaTeper OAHOCHO CTpaHor je3nka y objalliraBawy W reHepaiu-
3aymjama. MpuknagHu obpacum 6u Tpebasio camm fa NMpuKaxy ene-
MeHTe U OfHOCe Yy CTPYKTypama.

5. M Haj3an, HWje ce MHOro0 BOAWMIO padyyHa 0 MCUXOSOLLKMAM
N MefarowkuM MNpyvHUUNUMa MpuInkoM KOHCTpyucawa TuxX obpa-
3aLa, HUX0BOj NMPUMjeHU U eIMKaCHOCTU Yy HacTaBHOj Mpakcu, Beh
Cy BMLIE MPUMjEH/BMBU 3a YNCTO JINHITBUCTUYKE CBPXE.

Cse 0BO ynyhyje Ha 3ak/byyak fAa 6u obpacum v npasuna y
HacTaBM CTpaHOr je3uka Tpebaso Aa 3a40Bo/be crbeaehe KpuTepuje:
Ja cy CaMOeKCr/iaHaTopHW, Nlakn 3a pasymujeBarbe W rpaheHn OKo
JIMYHOI rnaronckor obnuka. TakBuM obpacum 6u Tpebano fa obyxsa-
Te CBa /iMUa JIMYHOI rNaro/ickor 06svKa n omoryhe LIeMaTCKX Mpu-
Ka3 Yy XOPU30HTa/IHOM W BEPTUK&/IHOM CMjepy. Y HMXOBOM M3BOhe-
Y YYeCTBYjy YYEHMUM OLHOCHO CTyAeHTU. OHM ce MOry MpOoLUMpW.
BaTM [OAaBatbeM efleMeHaTa 3a ApYyre peyeHWYHe nosuuuje, y Ko-
juma ce Mory BpLIMTK MoAuMdMKaumje n cybcTutyumje, a Mujera-
Jy ce MpuMjeHOM jefHOCTaBHUX MpaBuia KOHBEP3Wje OAHOCHO TpaHC-
opmauuje. Tpebano 6u Aa ce CBjeCHO yCBajajy M Bjexbajy, 3aTnm
yBje>xbaBajy [0 HecBjecHe ynoTpebe — ayTomatmsauumje, 4mme ce
NocTuke (hYEeHTHOCT, M3a yera CAvjeam OpraHm3oBakbe akTUBHOCTU
KOje BOLEe KOMYHWKaLMjW.

Y rpaherwy obpasaua Koju 6M MOXKAa OArOBOPWAN MOCTaB/be-
HUM KpuTepujuma, Tpebasio 6u nouveTn [asaken HasmBa JIMUHOT
rnarofickor o6nuka, raje 6m ce nose3asiM HasMB M 06/IMK 3HAKOM
jeAHaKkocTu, Tako fda Ha /iMjeBoj CTpaHM MMamMoO Ha3uB, a Ha [ecCHOj
CTpaHW OCHOBHE e/fleMeHTe JIMYHMX [Naronckux obnvmka. OBakaB 00-
pasal, 6u ce yCnoBHO MOrao HassaTu OnwTu ob6pasay. EBO Heko-
NINKO Npumjepa:

1. sg. 3.sg. pl.
1. Present Tense (to be) = am /is / are
sg. pl.
Past Tense (to be) = was/were
0.p. sg.
Present Tense (to have) = have/has
0.p. 3.sg.

Present Tense of Verbs = V / V—s

Past Tense of Verbs = V—ed
etc.
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Mopes oBuMx o6pasaua paspafeHnx 3a CBe raroficke 06/Mke
NocToje M Tako3BaHW K/by4HU obpacuu, KOju Momaxy [a ce HUuxo-
BOM MpPUMjeHOM Ha obpacue rnaro/ickux 06/vkKa, NnyTeM 3amjeHe,
[06ujy Mogenu 3a CBakuM MOCEOHW rnaronicku 06/mkK.* CraB/batbeM
oArosapajyher npunora nav npuaowke ¢pase nopeg obpacua obes-
6jefyje ce BpeMeHCKa cuTyaumja y KOjoj ce JOTUYHM obpasay, yno-
Tpebs/baBa. EBO nMpumjepa 3a NpocTe rnarosicke 06/UKE:

2. A=S+V (Affirmative = Subject + Verb)
I =V +S? (Interrogative = Verb + Subject?)
N =S + V + not (Negative = Subject + Verb + not)
IN =V + S + not? (Interrogative-Negative = Verb + Subject +
+ Not?)

OBM K/bYYHM 0bpacuM MOry fa ce KOpUCTe Mpuinkom obpage
noMohHUX rnarona n norepgHor obnuka Simple Present Tense-a v
Simple Past Tense-a. CBaka pedeHuLa mMopa 6UTU Yy jefHOM oOf
NoMeHyTUX 065MKa. Tako, ako >Xenumo ga fobwujemo adupmartvi
o4 npeseHTa rnarona to be, camo ce 3aMujeHe efleMeHTU K/byUYHOT
obpacua (A =S + V) obnmymma obpacua rnarona to bhe. (A =S +
+ am/is/are). Tako, NOWTO Ce MOCTaBM K/by4YHW obpasay (A = S +
+ V), 1 npenuwle OHO LWITO OCTaje U3 K/by4yHOr obpacua, a To je A
n S, V ce 3ammjeHn ca amlislare, go6uja ce:

3. A =S + amlis/are

3a rnaron “to have™

A =S + have/has

| have/has + S; o kbyyHor obpacua: | =V + S?

N = S + have/has + not, og N =S + V + not

Ynotpebom upte ,,/", KOja 3Haun ,,unn", oTeapajy ce nosuunje
3a CBaKW eNemMeHT Yy OKBWMPY rnarosiickor o6nvka, wwrto omoryhasa

fia ce ucnog obpacua crycTe cBa /iMuUa M Ha Taj HauuH gobujamo
LUeMy rfaronckor o6nmka Kao LjeiMHe, OAHOCHO napagurve:

4, A =S + aml/is/are | = am/is/are + S?
| am am 1?
he is is he?
she is is she?
it is is it?
we are are  we?
you are are  you?
they are are  they?

unn Past Tense (nNpowwsio Bpujeme):

* OBM obpacum cy eKcnepuMeHTasIHO MPOBjepeHn Ha ysoEK KOju 06yx«
BaTta 32 ofjerberwa 0CHOBHMX LWkona og V go VI fa3pe,qa ca 880 ucrnintaHnka
n 16 opjerversa rumHasuje og | go 1V paspega ca 376 ucnvraHuka.
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5. A =S + was/were | = was/were + S?
| was was 1?
he was was he?
she was was she?
it was was it?
we were were  we?
you were were  you?
they were were  they?

Past Tense of rnarona to have, Kao M HeMnoOTNYHUX rnarona, je jowl
Nakwu:

6. A=S + had | = had -F S? N =S + had -I- not
I had had 1? I had not
he had had he? he had not
she had had she? she had not
it had had it? it had not
etc. etc. etc.

Ynopego AOK ce pasBuja Mapagurma faje ce MNPeBOAHU EKBU-
Ba/IEHT Ha MaTepweM je3nKy. 3a MNpaB/bere CBUX C/OXKEHUX r/a-
rofICKNX 06/MKa KOpWUCTe Ce 4YeTMpu KbyyHa obpacua (04HOCHO
LWECT aKO ce padvyHajy u obpacuu KpaTKux ogpedyHux o6nuka), 3a
n3sofere of onwter obpacLa noTBPAHOr, YNUTHOT N OfPEYHO-YNUT-
HOr 06/iMKa. EBO TUX K/bYYHUX pevyeHn4YHuX obpasaua:

7. A= S + Aux  + MV
Il = Aux + S + MV?

N=S + Aux + not + MV or short form,
N=§ + Auxn't + MV
IN=Aux +S + not + MV or short form,

IN = Auxn't + S + MV?

Cnvjefe npumjepu raje cMo of onwTer obpacua 3a Present
Continuous Tense po6unn nocebHe obpacue (Affirmative, Negativ,
Interrogativ, Interrogativ-Negativ) npumjeHOM K/by4HUX o6pasaua
Ha onwTK obpasay,;

8. Present Continuons Tense = am/is/are + V—ing + (now)
A = S + aml/is/are + V—ing
N = S + am/is/are + not + V—ing
I = am/is/are + S + V—ing
IN = am/is/are + S + not + V—ing?
HapaBHO, nocebHn obpacuu ce obpahyjy jefaH no jedaH, Ha

npumjep, NpBO aMpMaTuB, 3aTUM MHTepOraTMB WAW Heratue, U Ta-
KO pesoMm.
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Kao WTO CMO M3 ropwer npumjepa BuAjenu, nowTo ce nocra-
BW onwTn o06pasal, nocebHU obpacun ce [obGWjajy 3amjeHOM Mo-
MORhHOr rnarofia v rnaBHor rnarofa. 3aTmm npema rnocTaBn>eHoM 06-
pacuy MOXeMO [a M3BeAeMO CBa Mua rnarofickor 06amka, peurmo
Present Continuous Tense-a.

9. Present Continuous Tense = am/is/are + V—ing + (now)
A =S + aml/is/are + V—ing

| am reading
he IS reading
she is reading
it is reading
we are reading
you are  reading
they are reading

I = am/is/are + S + V—ing

etc.

N = S + aml/is/are + not + V—ing
I am not reading
he is not reading
she IS not reading
it is not reading
we are  not reading
you are not reading
they are  not reading

Ilt\l = am/is/are + S + not + V—ing?
etc.

EBO jowl HekMX nprMjepa obpasaua CMOXEHUX FaroscKmx obuka:

10. Pre?(e)nt Perfect Tense = have/has = V—ed/—en + (today/this
week,
The Present Perfect Tense:

A = S + have/has + V—ed/—en

N = S + have/has + not + V—ed/—en
I = have/has + S + V—ed/—en?

IN = have/has + S + not + V—ed/—en?

Past Continuous Tense = was/were + V—ing
A = S + was/were + V—ing

N = S + was/were + not + V—ing
I = was/were + S + V—ing?

IN = was/were + S + not + V—ing?

etc.
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O6pa3zal, MYHOr rnarofickor ob6/mka ModXke ga ce npowiuvpyje
ponyHama, kao wto cy Complement (C), Object (O), Place Comple-
ment (P1 C), Time Complement (TC) u cn. OBo ce, HapaBHO, y4u
y3rpegHo Aok ce casnafyje rnaroncku obpasal. OBMM MOCTYNKOM
caBfaflaBakbe pefla pujedn He npuumkbasa Tellkohy. To ce Buan u3
cbefehux npumjepa:

Sentence Patterns

11. Affirmative Statements
a) A=S + amlis/are + C

I am here. (adverb)

She is pretty. (Adjective)

They are  teachers. (Noun-plural)

He is a student.  (Determiner + noun)

2 3
b)%) + (\) !/ Vs +(0)

I read an English book.
They speak English.
He wants to read a French book.
c) A=S+V/V—s+ PIC + TC
I work there every day.
He goes to London every morning.
etc.
d A=S + am/islare +V—ing + 0O + PIC + TC
Tom is writing  an article in his office now.
etc.

12. Negative Statements:
a) Long forms:

(€) (2) @ @ ()

S + do/does + not + V + 0

I do not read an English book.

They do not speak English.

He does not want to read a French bock.

b) Short forms:

2 3 4
%) + don’é/gloesn’t + {/) +E))
They don't read an English book.
I don't speak  English.
He doesn't want to read a French book.
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13. Question Pattems:

a)
8\)N + do/((JIches + %3) +@ + g))
Do you read an English book?
Do they speak English?
Does he want to read a French book?
What do they  want?
What does Mary study?
Why do you read that book?
Where does he study?
etc.
b)
S
Qw +V/V—s + PIC?
V}(/ho works in that office?
etc.

JInuHn TNaronckm 06/IMK ce MOXKEe YOMLUTUTW 38 PEYEHUYHU Hu-
BO, aKO HaC y TOM TPeHYyTKY He WHTEepecyjy enemMeHTU MU ofHOCU Y
NMYHOM TNaro/ICKOM O6/INKY.

OBako A06ujeHn obpacuy M NOTNYHU O6AMUM rnarosia omory-
hyjy fa ce BuAe OO4HOCU XOPWU3OHTA/THO U BepTUKasHO. Ty je nako
BMAJETM OfHOCE efleMeHaTa obpacua npema LjenvHu u obpacua Kao
LjenvHe Tj. napagurme. Buay ce OHO LITO Ce MUjerba WU Pas/nKy-
je 1 OHO LUTO OCTaje HernpomujereHo. Ha oBaj HauMH ce Nnako ofja-
6|/|pa%y eneMeHTM obpacua npema nmuy, U cyocTutyumnjom cybjekTa
Bjexkba ce obpasay, a CyobCcTUTYUMjOM MNPUIOLLIKE ofpende — Bpu-
jeme. Moxe fga ce npetsBapa NMOTBPAHU OOMMNK Y OAPEYHWU, YTMUTHW,
YMUTHO-OPEeYHN UM fa Ce OBe KOHBep3nje KOMOWHYjy ca Beh no-
MeHYyTUM cybcTutyumjama. Moxe ce jeHO BpujeMe npeTBapatu y
APYro wnn faBakeM HasvBa obpasaua WM MpuioLLKoM oAapesdom
KOoja ycnos/baBa ofgpeheHy cTpykTypy. CBe 0BO omoryhasa oOnwwTu
obpasal, 13 Kojer ce gobujajy cBu ocTany 06/MuM NOMEHYTMM One-
pauuvjama. Kop ysmmara HoBOr obpacua, y u3Bohewy 06/1Ka Haj-
60/be je Kao LUTO CMO PEK/N, YK/bYUUTU YUYeHVKe, jep UM ce Y 00.
pacuuma gajy csu noTpebHM nogaumy, a rnowTo cy UM Kby4Hu obpac-
Un of paHuje nosHaTu, omoryhasa MM Ce Aa Y4YecTBYjy Yy npouecy
pasBujarba 0bpacua, M Ha Taj HayuuMH ra ydye. AKO ce MNOYHE Of
NOTBPAHOr 06/MKa, Ma MPeKo YMWUTHOr U OoApuYHOr Aohe Ao ynuT-
Ho-o4puyHOr 06/1MKa, o6pasal, ce 3aucta 3arnamTi, a nowTo ce Mno-
CTynak npeTBapara jefHOr obnuka y Apyrv CTa/IHO MOHaB/ba, Mo-
cTaje nak. Kao wTto ce Buau, BepbasiHa objallibberba YonwTe Hujecy
notpebHa. ¥YmjecTo fa ce objallirasa, CTPYKTypa ce npukasyje. Ho,
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aKo HeKo unak >env BepbasHy AepuHuumMjy, cam o6pasal, OMo-
ryhasa ga ce gedmHuumja Bepbanusyje. TepMuHonoruja je ncta Kao
N OHa KOjy YYEHMUM MHa4e y4ye M Yy HaleM je3nKy, 3aTO UM HU
OHa He npuuukasa Tewkohy, TMM BMLUE LITO Ce OBAje pagn O Haj-
0OVYHMJUM rpaMaTUyKMM HasuBUMA.

OBuM oO6pacuMma M ynoTpeboM jefHOCTaBHMX MpaBwuna, yue-
HALWM npaBe peyeHuUe, a Ja He Mopajy fa MemopuLly CBaku ene-
MeHT noce6Ho. OHM namTe camo OnwTK obpasal, a efnemMeHTe, Tj.
CTPYKTYpY npema ogpeheHOM /1Ly KOHCTPYMLLY Ha OCHOBY opabu-
patba CyOjeKkTa Te CTPYKType, a 06/IMK peyeHuue gobujajy npumje-
HOM K/bYYHMX O6pasaua. Y4eHuuM NpoM3BOLe HOBe o0bpacue Ko.
puctehn obpacue Koje cy paHuje yumnu. Tako OHU uUMajy ga yye
Mann 6poj HoBmx enemeHata. OBo MM omoryhasa ga Hayye Behu
6poj obpasaua 3a KpaTKo Bpujeme, YMMe ce CMarbyje 6poj Bjexxowu,
a CBe OBO OCTaB/ba BULLUE BpeMeHa 3a Bjexkbe KOMyHuKauuje, Kao
M 3a camy KOMyHUKauujy.

Vladimir Sekulié¢

TOWARDS A PEDAGOGICAL GRAMMAR IN TEACHING AND
LEARNING ENGLISH

Summary

_In mastaring a foreign language, besides various kinds of activities
leading to communication, the mastering of the grammatical structure pro-
perly, which has ofter been neglacted lately, is very important. For this
urpose, Basic sentence Patterns are generally used in foreign language
eaching and Ieamm%._ But they cannot meét some essential needs of
foreign language teaching and leaming, nor solve one of the most serious
roblems: they are not self-explanatory nor simple enough to show at once
he relationships within the structures and they don't fell us much about
the finite verb form. They are usually presented in the follpwmg way and
sequence: from mechanical and meaningful drill and exercises to commu-
nicative activities.

From this we can infer that valid pattems and mles in teaching English
as a foreign language should meet the following criteria: they must be self-
-explanatory, easy to understand and built around the verb from. They should
Prowde all’ the positions for the verb elements in the slot within the sen-
ence pattem. Some simple conversion or transformation mles are applied to
these pattems in order to produce various kinds of sentences. The seouence
in presenting and practicing them is from: conscious explanations and exer-
cises through unconscious drills to communicative activities.

The proposed pattems_and mles have been tested in the classroom and
have proved useful m teaching English as a foreign language.





